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S 11.8 - Power Series
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3-28 Find the radius of convergence and interval of convergence
of the series.
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31. If k is a positive integer, find the radius of convergence of

the series "
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31. If £ 1s a positive integer, find the radius of convergence of
the series
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Ryan Cheats and looks it up, here:

https://math.stackexchange.com/questions/888163/finding-the-convergence-

radius-of-dfracnk-cdot-xnkn
®

Factor » out of each factor in the denominator in the ratio test and it falls into our
laps. Nice work, people!

Just looking at the answer in the back of my book got me no closer to a cogent argument.

2 wrongs are just 2 wrongs.



https://math.stackexchange.com/questions/888163/finding-the-convergence-radius-of-dfracnk-cdot-xnkn
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31. If k is a positive integer, find the radius of convergence of
the series
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S 11.9 Part I - Everything you wanted to know about
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